

Please mail POs, contracts and checks to:

Rep Services, Inc.

581 Technology Park, STE 1009 Lake Mary, FL 32746-7127

Proposed City of North Port

To: Parks and Recreation
4970 City Hall Boulevard
North Port, FL 34286

Ship Garden of the Five Senses-City of North Por Bill

To: 4299 Pan American Blvd. North Port, FL 34287 Bill City of North Port

Parks and Recreation 4970 City Hall Boulevard North Port, FL 34286

Attn: Sandy Pfundheller Attn: Sandy Pfundheller Attn: Sandy Pfundheller

Project No:12606Project Name:Garden of the Five Senses-City of NorthProject Contact:Sandy PfundhellerProposal No:12606.10Proposal Name:Garden of the Five Senses-LSI 107370-Project Location:4299 Pan American Blvd. North Port, FL 34287Proposal Date:10/24/201710/24/201712/31/2017

For Questions Contact: Tricia Thomas 407-915-7849 

tricia@repservices.com

Sales Consult	ant: Scott Bi	rushwood	□ 727-539-8457	Printed: 10/	24/2017 - TT
Vendor: Landscape Structures			<b>Proj Drawings:</b> 107370-1-2		558747
Class	Part No	Qty	Description	Unit Price	Ext Price
Freestanding 5	5-12				
CoolToppers	IP159881A-001	1 EA	18x18 Shade Pyramid 8'Roof Height 60Bury	5,005.00	5,005.00
Kids In Motion	IP173591A-001	1 EA	OmniSpin Spinner Surface Mount	6,820.00	6,820.00
	IP186490A-001	1 EA	We-saw DB Only	8,850.00	8,850.00
Sensory Play	IP214443A-001	1 EA	Rhapsody Goblet Drum DB	1,220.00	1,220.00
	IP214444A-001	1 EA	Rhapsody Kundu Drum DB	1,220.00	1,220.00
	IP214445A-001	1 EA	Rhapsody Kettle Drum DB	1,220.00	1,220.00
Swings	IP173592A-001	1 EA	Oodle Swing DB Only	4,700.00	4,700.00
	IP174018A-001	3 EA	Belt Seat ProGuard Chains for 8' Beam Height	110.00	330.00
	IP176038A-001	2 EA	Full Bucket Seat ProGuard Chains for 8' Beam Height	260.00	520.00
	IP177332A-001	1 EA	Single Post Swing Frame 8' Beam Height Only	1,115.00	1,115.00
	IP177333A-001	2 EA	Single Post Swing Frame Additional Bay 8' Beam Height Only	835.00	1,670.00
	IP177351A-001	1 EA	Molded Bucket Seat (5-12 yrs) w/Harness ProGuard Chains for 8' Beam Height	710.00	710.00
Tables	IP113139G-001	2 EA	Poly Picnic Table Permanent 60 Table w/o 14 and 2 5' Seats	1,445.00	2,890.00
			Freestanding 5	-12 Total:	\$36,270.00
Playbooster 2-	5				
Custom	107370-1-2	1 EA	2-5 Custom from 107370-1-2	9,650.00	9,650.00
	TL000181	4 EA	Flower Stepper 16	460.00	1,840.00
	TL000182	1 EA	Flower Stepper 8	445.00	445.00
	TL000185	4 EA	Flower Post Topper	1,725.00	6,900.00
	TL000334	1 EA	Bee and Flower Pilot Panel w/Flower Wheel Infil Above Deck	1,345.00	1,345.00
Benches	IP111640C-001	1 EA	5' Contour Poly Bench w/Back No Armrests DB		820.00
Bridges/Ramps	PB120325A-002	1 EA	Ramp Berm Exit Plate Concrete Wall	340.00	340.00
	PB156232A-001	3 EA	Ramp w/Guardrails w/Curbs Meets ASTM	3,510.00	10,530.00
Climbers	PB128252A-005	1 EA	Loop Ladder 48Dk DB	780.00	780.00
	PB152907C-001	1 EA	Deck Link w/Barriers Steel end panels 3 Steps	2,230.00	2,230.00
CoolToppers	IP154397A-001	1 EA	CoolToppers Single Post DB Only	3,290.00	3,290.00
Decks	PB111231A-001	3 EA	Triangular Tenderdeck	660.00	1,980.00
	PB121948A-001	2 EA	Kick Plate 8Rise	99.00	198.00
	PB178710A-001	3 EA	Hexagon Tenderdeck	2,445.00	7,335.00
	PB185852A-001	1 EA	Transfer Step w/2 Handloops DB	835.00	835.00
Enclosures	PB127440A-001	1 EA	Trail Tracker Reach Panel Above Deck	400.00	400.00
	PB127953A-001	4 EA	Handhold Panel Set	240.00	960.00
	PB127953B-001	1 EA	Handhold Panel	135.00	135.00
	PB135729A-001	1 EA	Periscope Reach Panel Above Deck	1,315.00	1,315.00
	PB135730A-001	1 EA	Match 3 Reach Panel Above Deck	685.00	685.00
	PB135731A-001	1 EA	Chimes Reach Panel Above Deck	1,070.00	1,070.00
	PB164148A-001	1 EA	Ring-A-Bell Reach Panel Above Deck	815.00	815.00

Proposal No:	12606.10	7	ject Name: Garden of the Five Senses-City of North Po  Proposal Date: 1		Page 2 of 4
	PB191031A-001	5 EA	Accessible Panel Curb	91.00	
More Fun	PB111362A-001	1 EA	Talk Tube 40' Tubing Kit PB	180.00	180.00
	PB120901A-001	1 EA	Grab Bar	160.00	160.00
Posts	PB111403J-001	4 EA	110Alum Post For Roof DB	260.00	1,040.00
	PB111404D-001	2 EA	124Alum Post DB	290.00	580.00
	PB111404E-001	1 EA	116Alum Post DB	260.00	260.00
	PB111404G-001	4 EA	100Alum Post DB	250.00	1,000.00
	PB111404H-001	8 EA	92Alum Post DB	240.00	1,920.00
	PB111404I-001	4 EA	84Alum Post DB	230.00	920.00
	PB111404J-001	2 EA	76Alum Post DB	215.00	430.00
	PB154883B-001	1 EA	249Steel Post For CoolToppers Single Post Roof DB 48Dk	785.00	785.00
	PB154883D-001	1 EA	221Steel Post For CoolToppers Single Post Roof DB 16Dk	650.00	650.00
Roofs	PB154884A-001	2 EA	CoolToppers Single Post DB Only	2,755.00	5,510.00
Signage	IP182503A-001	1 EA	Welcome Sign (LSI Provided) Ages 2-5 years Direct Bury	0.00	0.00
	PB124863C-013	1 EA	SlideWinder2 48Dk DB 1 Straight 1 Left	2,180.00	2,180.00
Sports/Fitness	IP100041A-001	1 EA	Curved Balance Beam DB	685.00	685.00
Tunnels	PB122589B-002	1 EA	Offset Crawl Tunnel 16Offset Deck To Ground	2,715.00	2,715.00
Turricio	1 1 1 1 2 2 0 0 0 0 0 2	1 27 (		ter 2-5 Total:	\$73,368.00
Playbooster 5-1	2		·		
Custom	CL271590	1 EA	Butterfly Theme Crescent Climber. DB.	13,965.00	13,965.00
	TL000182	1 EA	Flower Stepper 8	445.00	445.00
	TL000185	4 EA	Flower Post Topper	1,725.00	6,900.00
	TL000187	1 EA	Garden Theme Pipe Barrier w/Wheel	1,410.00	1,410.00
Benches	IP111640C-001	2 EA	5' Contour Poly Bench w/Back No Armrests DB	820.00	1,640.00
	PB120325A-002	1 EA	Ramp Berm Exit Plate Concrete Wall	340.00	340.00
Dridges/rtamps	PB156232A-001	1 EA	Ramp w/Guardrails w/Curbs Meets ASTM	3,510.00	3,510.00
		2 EA	12' Ramp w/Guardrails and Curbs	5,810.00	11,620.00
Olimahama	PB174815A-001		Pod Climber 8 DB	240.00	240.00
Climbers	IP120710A-001	1 EA	Pod Climber 16 DB	245.00	490.00
	IP120711A-001	2 EA		250.00	250.00
	IP120712A-001	1 EA	Pod Climber 24 DB		
	IP158997A-001	1 EA	Pod Climber 10 DB	240.00	240.00
	PB123284A-001	1 EA	Wiggle Ladder 32Dk DB	580.00	580.00
	PB148432B-007	1 EA	Corkscrew Perm Handholds 72Dk DB	1,075.00	1,075.00
	PB150975A-002	1 EA	Cascade Climber 56Dk DB Only	1,935.00	1,935.00
	PB152907A-001	1 EA	Deck Link w/Barriers Steel end panels 1 Step	1,155.00	1,155.00
	PB152907C-001	1 EA	Deck Link w/Barriers Steel end panels 3 Steps	2,230.00	2,230.00
-	PB157427B-004	1 EA	Pod Climber w/Handloop 32Dk DB Left Handhold	1,200.00	1,200.00
CoolToppers	IP154397A-001	2 EA	CoolToppers Single Post DB Only	3,290.00	6,580.00
Decks	PB111228A-001	2 EA	Square Tenderdeck	850.00	1,700.00
	PB111231A-001	1 EA	Triangular Tenderdeck	660.00	660.00
	PB112471A-001	1 EA	Transfer Step DB	445.00	445.00
	PB121948A-001	1 EA	Kick Plate 8Rise	99.00	99.00
	PB178710A-001	3 EA	Hexagon Tenderdeck	2,445.00	7,335.00
Enclosures	PB115254A-001	1 EA	Storefront Panel	520.00	520.00
	PB123844A-001	1 EA	Braille Panel Above Deck	1,345.00	1,345.00
	PB127953A-001	2 EA	Handhold Panel Set	240.00	480.00
	PB127953B-001	1 EA	Handhold Panel	135.00	135.00
	PB129043A-001	1 EA	Image Reach Panel Above Deck	770.00	770.00
	PB164094A-001	1 EA	Bongo Reach Panel Above Deck	750.00	750.00
	PB188835A-001	1 EA	Sign Language Panel Above Deck	725.00	725.00
	PB191031A-001	2 EA	Accessible Panel Curb	91.00	182.00
	PB217911A-001	1 EA	DigiFuse Periscope Panel Above Deck Insect-Butterfly/Bugs - 00000024	1,940.00	1,940.00
	PB218172A-001	1 EA	DigiFuse Barrier Panel w/Medallions Above Deck Insects Medallion Set - 000000043	1,595.00	1,595.00
More Fun	PB111275A-001	1 EA	Handloop Assembly	195.00	195.00
	PB111362A-001	1 EA	Talk Tube 40' Tubing Kit PB	180.00	180.00

	PB111363B-001	1 EA	Talk Tube Deck Mounted 16Dk DB Only	435.00	435.
	PB111363C-001	1 EA	Talk Tube Deck Mounted 24Dk DB Only	440.00	440.
	PB120818A-001	1 EA	Playstructure Seat	320.00	320.
	PB120901A-001	1 EA	Grab Bar	160.00	160.
	PB160054C-001	1 EA	Stationary Cycler Pedals & Handles	1,335.00	1,335.
	PB160054D-001	1 EA	Stationary Cycler Accessible Handles Only	720.00	720.
Overhead Play	PB119805A-002	1 EA	Single Beam Loop Horiz Lad 84Connected Between Decks	875.00	875.
Posts	PB111403F-001	1 EA	142Alum Post For Roof DB	325.00	325.
	PB111403I-001	2 EA	118Alum Post For Roof DB	265.00	530.
	PB111404A-001	3 EA	148Alum Post DB	325.00	975.
	PB111404B-001	2 EA	140Alum Post DB	310.00	620.
	PB111404C-001	1 EA	132Alum Post DB	305.00	305.
	PB111404D-001	1 EA	124Alum Post DB	290.00	290.
	PB111404E-001	3 EA	116Alum Post DB	260.00	780.
	PB111404F-001	8 EA	108Alum Post DB	255.00	2,040.
	PB111404G-001	2 EA	100Alum Post DB	250.00	500.
	PB111404H-001	5 EA	92Alum Post DB	240.00	1,200.
	PB111404J-001	3 EA	76Alum Post DB	215.00	645.
	PB154883A-001	1 EA	265Steel Post For CoolToppers Single Post Roof DB 64Dk	820.00	820.
	PB154883C-001	1 EA	233Steel Post For CoolToppers Single Post Roof DB 32Dk	770.00	770.
Roofs	PB154884A-001	2 EA	CoolToppers Single Post DB Only	2,755.00	5,510.
Signage	IP182503C-001	1 EA	Welcome Sign (LSI Provided) Ages 5-12 years Direct Bury	0.00	0.
lides & Gliders	PB124863F-010	1 EA	SlideWinder2 72Dk DB 1 Straight 2 Right	2,955.00	2,955.
	PB130390A-003	1 EA	Double Swoosh Slide 72Dk DB	1,970.00	1,970.
			Playbooster 5-	12 Total:	\$99,381.0
			Product Subtotal:		\$209,019.0
			Discount per the Clay County Contract #13/14-8:	2.00%	(\$4,180.3
Discounted Product Total:					(φ4, 100.
			Discounted Product Total:	2.00 /0	
	F - 11 B		Discounted Product Total: 4 Sets of Signed & Sealed Engineering:	2.00 /6	\$204,838.6
	Freight: Pı	repaid Shi	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge:	2.0076	\$204,838.6 \$5,000.0 \$9,200.0
		•	Discounted Product Total: 4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:	2.0070	\$204,838.6 \$5,000.0 \$9,200.0
<b>/endor:</b> Har	Freight: Pr	•	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge:	2.00%	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6
		•	Discounted Product Total: 4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:	Unit Price	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 55874
Class	nover Specialties, In	c. Qty	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge:  Landscape Structures Total:  Proj Drawings: 107370-1-2		\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 55874 Ext Prid
Class	Part No GOTFS-DESIGN	c. Qty	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal:	Unit Price	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 5587. <b>Ext Pri</b> 125,871.3
Class	Part No GOTFS-DESIGN	c. Qty	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8:	Unit Price	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 5587. <b>Ext Pri</b> 125,871.2
Class	Part No GOTFS-DESIGN	C. Qty 8,645 EA	Discounted Product Total:  4 Sets of Signed & Sealed Engineering:  Proj Drawings: 107370-1-2  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal:  Discount per the Clay County Contract #13/14-8:  Discounted Product Total:	Unit Price 14.56	\$204,838.6 \$5,000.6 \$9,200.6 \$219,038.6 5587 <b>Ext Pri</b> 125,871.2 (\$2,517.4 \$123,353.7
Class	Part No GOTFS-DESIGN	C. Qty 8,645 EA	Discounted Product Total:  4 Sets of Signed & Sealed Engineering:  PMethod: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge:  Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal:  Discount per the Clay County Contract #13/14-8:  Discounted Product Total:  Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge:	Unit Price 14.56	\$204,838.6 \$5,000.6 \$9,200.6 \$219,038.6 5587. <b>Ext Pri</b> 125,871.2 (\$2,517.4 \$123,353.7 Include
Class urfacing	Part No GOTFS-DESIGN PIP	C. Qty 8,645 EA	Discounted Product Total:  4 Sets of Signed & Sealed Engineering:  Proj Drawings: 107370-1-2  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal:  Discount per the Clay County Contract #13/14-8:  Discounted Product Total:	Unit Price 14.56	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 55874 <b>Ext Pri</b> 125,871.2 (\$2,517.4 \$123,353.7 Include
Class urfacing /endor: RSI	Part No GOTFS-DESIGN PIP	C. Qty 8,645 EA	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: PMethod: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:	Unit Price 14.56	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 5587. <b>Ext Pri</b> 125,871.2 \$125,871.2 (\$2,517.4 \$123,353.7
Class urfacing /endor: RSI	Part No GOTFS-DESIGN PIP  Installer  Qty	Qty 8,645 EA	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:	Unit Price 14.56	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 55874
Class Furfacing  Vendor: RSI tem	Part No GOTFS-DESIGN PIP	Qty 8,645 EA  Description	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  Installation - Landscape Structures	Unit Price 14.56 2.00%	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 5587-4 <b>Ext Pric</b> 125,871.2 \$125,871.2 (\$2,517.4 \$123,353.7 Include \$123,353.7
Class Surfacing  Vendor: RSI tem  NS-LSI NS-CON FT	Part No GOTFS-DESIGN PIP  Installer  Qty 1 LT 11 LT	Qty 8,645 EA  Description	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:	Unit Price 14.56 2.00% Unit Price	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 5587- <b>Ext Pric</b> 125,871.2 (\$2,517.4 \$123,353.7 Include \$123,353.7 5587- <b>Ext Pric</b> 64,920.0
Class Furfacing  Vendor: RSI tem  NS-LSI NS-CON FT NS-CON CURB	Installer  Qty 1 LT 11 LT	Description Equipment Install Conclinatallation	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On Installation - Landscape Structures  product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On Installation - Landscape Structures  product Subtotal: Discounted Product Total:  Product Subtotal: Discounted Product Total: Discounted Product Total:  On Installation - Landscape Structures  Product Subtotal: Discounted Product Total: Discounted Product T	Unit Price 2.00%  Unit Price 64,920.00	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 55874 <b>Ext Prio</b> 125,871.2 \$125,871.2 (\$2,517.4 \$123,353.7 Include \$123,353.7
Class Jendor: RSI tem JS-LSI JS-CON FT	Installer  Qty 1 LT 11 LT	Description Equipment Install Conclustallation Labor charge	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On Installation - Landscape Structures  product Total:  Total:  Total:  Discounted Product Total:  Discounted Product Total:  Total:  Total:  Discounted Product Total:  Discounted Product Total:  Discounted Product Total:  Total:  Discounted Product Total:  Discounted Product Total:  Total:  Discounted Product Total:	Unit Price 14.56  2.00%  Unit Price 64,920.00 1,141.00	\$204,838.6 \$5,000.0 \$9,200.0 \$219,038.6 5587- <b>Ext Prio</b> 125,871.2 (\$2,517.4 \$123,353.7 Include \$123,353.7 5587- <b>Ext Prio</b> 64,920.0 12,551.0
Class	Installer  Qty 1 LT 11 LT	Description Equipment Install Conclustallation Labor charginisdiction. NOTE: Pen	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On Installation - Landscape Structures  product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On Installation - Landscape Structures  product Subtotal: Discounted Product Total:  Product Subtotal: Discounted Product Total: Discounted Product Total:  On Installation - Landscape Structures  Product Subtotal: Discounted Product Total: Discounted Product T	Unit Price 14.56  2.00%  Unit Price 64,920.00 1,141.00 10,801.00	\$204,838.6 \$5,000.0 \$9,200.0 \$9,200.0 \$219,038.6 55874  Ext Pri  125,871.2 \$125,871.2 \$123,353.7 Includ \$123,353.7  55874  Ext Pri 64,920.0 12,551.0 10,801.0
Class Surfacing  Vendor: RSI  tem  NS-LSI NS-CON FT NS-CON CURB	Installer  Qty 1 LT 11 LT	Description Equipment Install Conclustallation Labor charginisdiction. NOTE: Pen	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On  Installation - Landscape Structures Frete Footing for (7) Single Post Cool Topper. (1) 18x18 (4) Post Shade Pyramid. Of 710 LF Concrete curbing ge for Licensed Contractor to file for building permit from the appropriate mit Fees charged by the jurisdiction will be prepaid and invoiced separately and	Unit Price 14.56  2.00%  Unit Price 64,920.00 1,141.00 10,801.00	\$204,838.6 \$5,000.6 \$9,200.6 \$9,200.6 \$219,038.6 5587  Ext Pri 125,871.2 \$125,871.2 \$123,353.7 Includ \$123,353.7 5587  Ext Pri 64,920.6 12,551.6 10,801.6
Class Jendor: RSI tem JS-LSI JS-CON FT JS-CON CURB ERMIT FILING	Installer  Qty 1 LT 11 LT	Description Equipment Install Conclinstallation Labor chargiurisdiction. NOTE: Perimay require	Discounted Product Total: 4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On  Installation - Landscape Structures Strete Footing for (7) Single Post Cool Topper. (1) 18x18 (4) Post Shade Pyramid. of 710 LF Concrete curbing ge for Licensed Contractor to file for building permit from the appropriate mit Fees charged by the jurisdiction will be prepaid and invoiced separately and a change order to your Purchase Order or Contract.  RSI Installer Total:	Unit Price 14.56  2.00%  Unit Price 64,920.00 1,141.00 10,801.00	\$204,838.6 \$5,000.6 \$9,200.6 \$9,200.6 \$219,038.6 5587  Ext Pri 125,871.2 \$125,871.2 \$123,353.7 Includ \$123,353.7 5587  Ext Pri 64,920.6 12,551.6 10,801.6
Class Surfacing  Vendor: RSI tem NS-LSI NS-CON FT NS-CON CURB ERMIT FILING	Installer  Qty 1 LT 11 LT 1 LT 1 EA	Description Equipment Install Conc Installation Labor charg jurisdiction. NOTE: Perimay require	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On  Installation - Landscape Structures  prete Footing for (7) Single Post Cool Topper. (1) 18x18 (4) Post Shade Pyramid. Of 710 LF Concrete curbing ge for Licensed Contractor to file for building permit from the appropriate mit Fees charged by the jurisdiction will be prepaid and invoiced separately and a change order to your Purchase Order or Contract.  RSI Installer Total:	Unit Price 14.56  2.00%  Unit Price 64,920.00 1,141.00 10,801.00 950.00	\$204,838.6 \$5,000.0 \$9,200.0 \$9,200.0 \$219,038.6 5587.  Ext Pri: 125,871.2 (\$2,517.4 \$123,353.7 Includ: \$123,353.7 55874  Ext Pri: 64,920.0 12,551.0 10,801.0 950.0
Class  urfacing  /endor: RSI  tem  IS-LSI IS-CON FT IS-CON CURB ERMIT FILING  General Term Gov't: N30; Res	Part No GOTFS-DESIGN PIP  Installer  Qty 1 LT 11 LT 1 LT 1 EA  as of Sale and Pr sellers, 100% w/orde	Description Equipment Install Conc Installation Labor charging in the control of	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge:	Unit Price 14.56  2.00%  Unit Price 64,920.00 1,141.00 10,801.00 950.00	\$204,838.6 \$5,000.0 \$9,200.0 \$9,200.0 \$219,038.6 5587.  Ext Pri: 125,871.2 (\$2,517.4 \$123,353.7 Includ: \$123,353.7  Ext Pri: 64,920.0 12,551.0 10,801.0 950.0
Class  urfacing  /endor: RSI  tem  IS-LSI IS-CON FT IS-CON CURB ERMIT FILING  General Term Gov't: N30; Res	Part No GOTFS-DESIGN PIP  Installer  Qty 1 LT 11 LT 1 LT 1 EA  as of Sale and Pr sellers, 100% w/orde	Description Equipment Install Conc Installation Labor charging in the control of	Discounted Product Total:  4 Sets of Signed & Sealed Engineering: p Method: Best Way FOB: Destination Weight: 18,437 lbs Freight Charge: Landscape Structures Total:  Proj Drawings: 107370-1-2  Description  EPDM Poured in Place Safety Surfacing. 9' Fall Height. 50%Black/50% Standard Color. 100% Color with Alphatic binder for Designs.  Product Subtotal: Discount per the Clay County Contract #13/14-8: Discounted Product Total: Freight: Prepaid Ship Method: Best Way FOB: Destination Freight Charge: Hanover Specialties, Inc. Total:  On  Installation - Landscape Structures  prete Footing for (7) Single Post Cool Topper. (1) 18x18 (4) Post Shade Pyramid. Of 710 LF Concrete curbing ge for Licensed Contractor to file for building permit from the appropriate mit Fees charged by the jurisdiction will be prepaid and invoiced separately and a change order to your Purchase Order or Contract.  RSI Installer Total:	Unit Price 14.56  2.00%  Unit Price 64,920.00 1,141.00 10,801.00 950.00	\$204,838.6 \$5,000.6 \$9,200.6 \$9,200.6 \$219,038.6 5587  Ext Pri 125,871.2 (\$2,517.4 \$123,353.7 Includ \$123,353.7 5587  Ext Pri 64,920.6 12,551.6 10,801.6 950.6

Proposal No: 12606.10 Project Name: Garden of the Five Senses-City of North Po Proposal Date: 10/24/2017 Page 4 of 4

# Notes

The Clay County Contract #13/14-8 provides a 2% discount on LSI product. The maximum price for installation is 45% of the product price. (Installation does not include site prep, slabs, footings or engineering).

The Clay County Contract #13/14-8 provides a 2% discount on VitriTurf product. Installation is included in the price of the product.

### **Basis of Proposal**

Our proposal is based upon your email request.

### Estimated project completion schedule

Your order will take approximately 19 weeks from receipt to completion of installation.

This includes a 4 week allowance for permitting which may take longer.

RSI will respond in a timely fashion after receipt of order/contract/letter of intent/notice to proceed.

## Scope of Proposal

Please note the vendor requirements itemized below.

#### Landscape Structures:

When placing an order, please select colors from those shown on pages 236-238 of the catalog.

#### Vitriturf Poured in Place Surfacing:

This quotation is for material, freight and installation.

Owner or Owner's contractor is responsible for:

- All site work, site preparation and base preparation.
- Accuracy of project dimensions and product quantities prior to ordering. Please specify product depth and color when ordering.
- Security of the site during cure time (typically 48 hours).
- Dumpster at the site for trash and waste material.

### Installation:

Unless otherwise noted, the following items are to be **PROVIDED BY CUSTOMER** prior to installation:

- ALL Site work completed excavation, removal and grading to proper level prior to installer arrival.
- Site security to prevent theft or vandalism of equipment.
- Water and 110 Electric.
- Underground Utilities Located and Marked prior to installation.
- Storage.
- Trash Dumpster to accommodate construction waste.
- Permitting
- Does not include soil density or concrete testing
- Site Plan or Survey
- · Soils testing
- Tree Survey

THIS PROPOSAL DOES NOT INCLUDE PERMIT FEES ASSESSED BY THE BUILDING DEPT. Those fees will result in additional charges.

Installation Charges on this proposal are based on NO UNFORESEEN conditions in the area, above or below the surface. If unforeseen conditions arise, the installation charges will change to reflect additional costs associated with dealing with those circumstances. Examples of this include, but are not limited to: site not ready upon installer's arrival, underground utilities, or difficulties with footers due to coral rock or ground water in the holes.

Orders are shipped within our manufacturer's standard lead times. Requests for delayed shipping may result in additional costs due to increases in freight, material costs or other factors. To secure the prices on this proposal, the offer must be accepted prior to the expiration date noted.

The undersigned warrants that he/she is an authorized representative of the company noted and has the requisite authority to bind said company and/or principal. If any particular billing is not paid when due, all outstanding balances, regardless of prior terms, will become immediately due and owing upon demand. Interest on past due amounts will be assessed at 1 ½ % per month or the maximum interest rate permitted by applicable law, whichever is less. Should it become necessary for either party to this contract to institute legal action for enforcement of any provisions of this contract, the prevailing party shall be entitled to reimbursement for all court costs and reasonable attorney's fees incident to such legal action. The parties hereto agree that proper venue for any legal action in any way related to this contract shall be in Seminole County, FL.

Accepted By:			
City of North Port			
Company Name	Authorized By	Printed Name	Date
As Its:	(Title)		